Actual

Actual

Deleterious: s = -1e-6

le8

not introgressed

introgressed

not introgressed introgressed
Predicted

-2.00

-1.75

-1.50

1.25

1.00

0.75

0.50

0.25

Deleterious: s = -1e-5

le8

not introgressed

introgressed

not introgressed introgressed
Predicted

-2.5

-2.0

Actual

Actual

Beneficial: s = 1e-6

e8

S -
o}
(2]
wn
[
<4
(o2}
o
<4
=]
£
-
o
c
©
o}
wn
(%]
[
L
()
o
<4
=]
£
not introgressed introgressed
Predicted
.
.
Beneficial: s = 1e-5
le8
kel
o}
wn
wn
[
L
(o2}
o
<4
=]
£
-
o
c
S -
o}
wn
(%]
[
4
(o)}
o
<4
=]
£

not intrdgressed introgressed
Predicted

-2.00

-1.75

-1.50

1.25

1.00

0.75

0.50

0.25

-1.2

-1.1

-1.0

0.9

0.8

0.7

0.6

0.5

0.4



